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Taxonomy and Evolution : EZO-6             

¸˜˚̨ – ≈√̋ ◊√√ ‚KI◊± (Time : 2 hours)¬  
Û”Ì«̃ ±Ú – 50 (Full Marks : 50) 
˜±ÀÚ¬ı˛ &èQ – 70% (Weightage of Marks : 70%) 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚ Œfl¡±ÀÚ±  ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 [fl¡]  õ∂Ê√±øÓ¬ fl¡±Àfl¡ ¬ıÀ˘ ∑ ∆Ê√ø¬ıfl¡ õ∂Ê√±øÓ¬ Ò±¬ı˛Ì± ¬ı…±‡…± 

fl¡èÚº ¤ ◊̋√√ Ò±¬ı˛Ì±¬ı˛ ¸œ˜±¬ıXÓ¬±&ø˘ ’±À˘±‰¬Ú± fl¡èÚº    
   2 + 5 + 3  

 [‡¡]  Î¬±¬ıĮ̂¬◊̋ ◊√√ÀÚ¬ı˛  õ∂±fl‘¡øÓ¬fl¡  øÚ¬ı±«‰¬Ú  Ó¬NøÈ¬ ’±À˘±‰¬Ú± 
fl¡èÚº ŒÊ√ÀÚøÈ¬fl¡ øEÙ¬Èƒ¬ fl¡±Àfl¡ ¬ıÀ˘  ∑ ø¬ı¬ıÓ«¬ÀÚ 
ŒÊ√ÀÚøÈ¬fl¡ øEÙ¬Èƒ¬-¤¬ı˛ ”̂¬ø˜fl¡± øfl¡ ∑ 4 + 2 + 4  

 [·¡]  ¬ø¬ıøˆ¬iß Ò¬ı˛ÀÚ¬ı˛ ’Ú≈fl‘¡øÓ¬ ¸•ÛÀfl«¡ ’±À˘±‰¬Ú± fl¡èÚº 
’øˆ¬À˚±Ê√Ú˜”̆ fl¡ ø¬ıøfl¡¬ı˛Ì ¸•§Àg Î¬◊√± √̋√¬ı˛Ì¸ √̋√ 
’±À˘±‰¬Ú± fl¡èÚº  5 + 5  

 [‚¡]  ’øˆ¬À˚±Ê√Ú fl¡±Àfl¡ ¬ıÀ˘ ∑ ¬Û±ø‡¬ı˛ ø¬ıøˆ¬iß õ∂fl¡±¬ı˛ Œ‡‰¬¬ı˛ 
’øˆ¬À˚±Ê√Ú&ø˘ ¸ø¬ıô¶±À¬ı˛ ø˘‡≈Úº  2 + 8  

2º Œ˚ Œfl¡±ÀÚ±  øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡¡]  Œ|Ìœø¬ıÚ…±À¸¬ı˛ ¸—:± ø˘‡≈Úº ’¢∂±øÒfl¡±¬ı˛ ¸”S ¬ı˘ÀÓ¬ 
øfl¡ Œ¬ı±Á¡±˚˛ ∑ 2 + 4  

 [‡¡]  ¬Û‘øÔ¬ıœ¬ı˛ ø¬ı¬ıÓ«¬ÀÚ¬ı˛ ◊̋√√øÓ¬˝√√±À¸ õ∂Ò±Ú ˜ √̋√±õ∂˘˚˛&ø˘ 
¬ı…±‡…± fl¡èÚº õ∂Ê±√øÓ¬¬ı˛ ø¬ı¬ıÓ«¬ÀÚ ˜ √̋√±õ∂˘À˚̨¬ı˛ õ∂ˆ¬±¬ı    
øfl¡ ¬ı…±‡…± fl¡èÚº 3 + 3 

 [·¡]  ø‰¬S¸˝√√ ø˜˘±À¬ı˛¬ı˛ ¬Û¬ı˛œé¬± › Ó¬±¬ı˛ Ù¬˘±Ù¬˘&ø˘ ø˘‡≈Úº 
õ∂fl¡¬ı˛Ì fl¡±Àfl¡ ¬ıÀ˘ ∑ 4 + 2 

 [‚¡]  Ù¬±Î¬◊`¬±¬ı˛-¤¬ı˛ ¤ÀÙ¬"√√ ¬ı˘ÀÓ¬ øfl¡ Œ¬ı±ÀÁ¡Ú ∑ ø˙ø˙-
¢∂œ¬ı±¬ı¶ö± ’±À˘±‰¬Ú± fl¡èÚº 3 + 3 

 [„√√¡]  ›ø¬ı˛À˚˛KI◊±˘ ’=À˘¬ı˛ ≈√øÈ¬ ô¶Ú…¬Û±˚œ̨ › ≈√øÈ¬ Î¬◊ˆ¬‰¬¬ı˛ 
õ∂±Ìœ¬ı˛ ∆¬ı:±øÚfl¡ Ú±˜ ø˘‡≈Úº ˜±¬ı˛À˜±À¸È¬ ¤¬ı— 
ø˙˜¬Û…±ø? Œfl¡±Úƒ õ∂±ÌœÀˆ¬Ã·ø˘fl¡  ’=À˘¬ı˛      
’øÒ¬ı±¸œ ∑ [2 + 2] + 2  

 [‰¬√√¡]  È¬…±'Úø˜ › ø¸ÀàÀ˜øÈ¬À'¬ı˛ õ∂Àˆ¬√ øfl¡ ∑  Î¬◊¬Ûõ∂Ê√±øÓ¬  
› Œ¬ı˛¸-¤¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… øfl¡ ∑ 3 + 3 

3º  Œ˚ Œfl¡±ÀÚ±¬ ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12      
 [fl¡] ø¬ıøˆ¬iß õ∂fl¡±À¬ı˛¬ı˛ ëÈ¬±˝◊√√¬Ûí-¤¬ı˛ ¬ıÌ«Ú± fl¡èÚº  3    
 [‡] Ê√œ¬ı±ù¨ ¸‘ø©Ü¬ı˛ ¬ÛXøÓ¬&ø˘ ’±À˘±‰¬Ú± fl¡èÚº 3  

 [·] ø¬ı¸¬ı˛ÀÌ¬ı˛ ø¬ıøˆ¬iß ¬ı±Ò±¸˜”À √̋√¬ı˛ ’±À˘±‰¬Ú± fl¡èÚº 3   
 [‚] õ∂±Ìœ ø¬ıô¶±À¬ı˛ ˜ √̋√±À√̇ œ˚̨ ¸=±˘ÀÚ¬ı˛ ˆ”¬ø˜fl¡± øfl¡ ∑ 3    
 [„√√¡√√] ’…±À˘±¬Û…±ø¬∏Cfl¡ õ∂Ê√±øÓ¬¬ı˛ Î¬◊æ√¬ı øfl¡ˆ¬±À¬ı ‚ÀÈ¬ ¬ıÌ«Ú± 

fl¡èÚº 3  

 [‰¬¬] ø¬ıøˆ¬iß õ∂fl¡±¬ı˛ Œ¬Û±à-Ê√±˝◊√√À·±øÈ¬fl¡ ¬Û‘Ôflƒ¡fl¡¬ı˛Ì 
Œfl¡Ã˙˘&ø˘ ’±À˘±‰¬Ú± fl¡èÚº 3 

 [Â√¬¬] ’øˆ¬À˚±Ê√Ú ˜”̆ fl¡ ’øˆ¬¸¬ı˛Ì õ∂øSê˚˛±øÈ¬ Î¬◊√± √̋√¬ı˛Ì¸ √̋√ 
’±À˘±‰¬Ú± fl¡èÚº 3   

 [Ê√] ¬Ûé¬œ Œ|Ìœ¬ı˛ Î¬◊»¬ÛøM√√ ¸—Sê±ôL ëŒÔÀ¬ı˛±À¬Û±Î¬í Ó¬NøÈ¬ 
¬ı…±‡…± fl¡èÚº 3 
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( English Version ) 

1. Answer two questions  : 10 × 2 = 20 

 (a) What do you mean by a species ? 
Describe Biological species concept. 
Describe the limitations of this concept. 

   2 + 5 + 3 
 (b) Describe the Natural Selection theory of 

Darwin. What is genetic drift ? Describe 
the role of genetic drift in evolution. 

   4 + 2 + 4    
 (c) Describe different types of mimicry. 

Describe adaptive radiation with 
examples. 5 + 5 

 (d) Define adaptation. Describe in detail 
different volant adaptations of a bird.  

   2 + 8 
2. Answer three questions : 6 × 3 = 18 
 (a)  Define classification. What do you 

mean by law of priority ? 2 + 4 
 (b) Describe the main catastrophic events 

during the evolutionary history of the 
Earth. Describe the role of catastrophic 
events in evolution. 3 + 3 

 (c) Describe with proper diagram, Miller's 
experiment and observations. What is 
variation ? 4 + 2 

 (d) What do you mean by Founder's     
effect ? Describe the Bottle-neck 
phenomenon. 3 + 3  

 (e) Write the scientific names of two 
mammals and two amphibians of 
Oriental realm. Mention the 
geographical realms where marmoset 
and chimpanzee are found. ( 2 + 2)  + 2   

 (f) Differentiate between Taxonomy and 
Systematics. What is the difference 
between sub-species and race ? 3 + 3 

3. Answer four questions : 3 × 4 = 12 

 (a) Describe different 'types'.  3 

 (b) Describe the processes of formation of 
fossils. 3 

 (c) Describe different barriers in dispersal.  
 3 

 (d) What is the role of continental drift in 
animal distribution ? 3 

 (e) Describe how allopatric species are 
formed. 3  

 (f) Describe different types of post-zygotic 
isolating mechanisms. 3 

 (g) Describe with example the phenomenon 
of adaptive convergence. 3 

 (h) Describe the 'theropod' theory of origin 
of birds. 3      

    


